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Test 1
viathematics
Session 1

You may us
o ’; ! Se your veference sheet during this session
lay not use o calculator during this session ‘

pIRECTIONS

. pqsion contains fourteen multiple-choi i
This s€8 , oice questions, four short i
. ) ‘ -answer questions, and three
OpeMeSP‘mse questions. Mark your answers to these questions on your ans::/er sheet9

. t . . N
it Which of the following is the largest? & ina card game, Andy scored 22,
A 3 5,22,13,12,24,24,9,20, and 19
B, 2 points. What is the mean number of
: points Andy scored?

c. 5 A

D 6 .17
B. 18
C. 19
D. 24

¢€» Which of the following is equivalent
to the expression below?

x+Tx+3y—y

How many real numbers are between
1.52 and 1.547

A 8x+ 2y

B. 10xy A. none
C. Tx+3y B. 100
D. C. 1000

Tx + 4y
: D. more than 1000




A rofating sprinkler is used to water
a yard, The radius of the area being
sprayed is 12 feet. What is the wet
area of the yard?

38 square feet
120 square feet
144 square feet

O aow»

452 square feet

What is the value of x in the equation
below?

9 — 5= (5)5)+ 15

4

5

7

40

O owp

Which is the slope of a line thyt

passes through the points (2, 2) a4

(~3, —3)7
Al

B. —I

C. 2

D —2

Which set of percents would best fit
the pie graph shown above?

A. 55%,25%, 13%, 1%
B, 50%, 18%, 12%, 20%
C. 52%, 20%, 17%, 11%
D. 48%, 22%, 20%, 10%
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Which of the following must be trye
for the trapezoid shown below?

b,
G

B

C

Lines AB and CD are parallel.

Line BC and AD are
perpendicular.

£ A and £.C are congruent.
/A and £ D are congruent.

A polygon was drawn on a piece of

paper.

e Fach of its interior angles is a right

angle.

e Qpposite sides are congruent.
° Adjacent sides are not congruent

The polygon must be which of the

following?
A. arectangle
B. anequilateral friangle
C. a trapezoid
D. arhombus

K'risten has a bag of 40 jelly beans.
FIVG? of' these jelly beans are pink, 3
are blue, 10 are yeliow, 2 are 01‘&1’1ge$
10 {are green, 8 are black, and 2 are
Whlt(-i. If Kristen reaches in without
looking, what is the probability that
she will pull out a white jelly bean?

A -
40
B —
20
1
C. -
5}
D
4




0% B % 5% B

®

Find the probability of spinning

“plue” on the spinner below.

1
A.—é
3
By
1
© 3
1
D'E

What is the volume of a cube that has

white N,/

an edge of 4 inches?

A. 12in°
B. 16in’
C. 64in’

D. 96in’

SRS %%!z’

w >

What is the next sumber in thig

2e

ometric sequence?

96,4824, 12 ___

0

0.3
0.5
0.6
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swer sheet,

» The slope of the line containing the poings (15,7) and (3 ¥ is 3
) ) 4‘1“

of 7 - What is the value

The following stern-and-leaf plot shows the avera

during the month of November &e temperature in Tampa each day
urin, s

Stem |Leaf |
6 4,6,7,8,8,9,9,9,9
7 0,0,0,1,1,2,2,4,4,4,4,5,5,6,7,9
8 0,0,1,1,1

What percent of days had an average temperature above 70°?

Question 17 is an open-response question.

e BE SURE TO ANSWERALL PARTS OF THE QUESTION.
¢ Show all your work (diagrams, tables, or computations) on your answer sheet,
¢ If you do the work in your head, explain in writing how you did the work.

. . .
Write your answer to question 17 in the space provided on your answer shee

€D The table below can be used to graph coordinates of x and y.

X Y

e

—”—-_-#- ‘
uation

and y in the eq

a Fill in the table with the values of x

y=2x—-1.
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¢. Using the coordinates of two of the points you used in the table, determine
the slope of the line you graphed.

d. Determine the slope of a parallel line. Explain your answer.



ar -2 e
and 19 are short-answer ﬁueﬂsﬁtmm,Wn ite answers to these questions in the boxes
answer sheet. Do not write youy Answers i
wer sheet.

. 15 3
{lgsﬂf" o1 YOUI
i g the ans

+ o ff

Jhere has @ surface area of 113.04 square meters, W
AP e work. Use 3.14 as the value of 1t
| your work. : “
Show an

. hat is the value of the expression below?

(6 —~2) +6=+10

hat is the radius of the sphere?



TRy,

uestion 20 and 21 are open-response questions-
¢ P 5 OF EACH QUESTION,

e BE SURE TO ANSWER AND LABEL ALer[%::fgions) -
® Show all your work (diagrams, tables, or €0 ?ﬁﬁng o
® Ifyou do the work in your head, explain i Wi H

in the space provided on your

your answer sheet,
did the worlk.

apswer sheet.
Write your answer to question 20

Look at the triangles shown below.

A

1 A\
B 6 C

a. Determine the length of the hypotenuse in AABC.
b. Explain in geometric terms why AABC is similar to ADEF.

¢. Find the length of line ED and EF in ADEF.

Write your answer to question 21 in the space provided on your answer sheet.

@ The prices of tickets to a school musical are shown on the sign below.

Seaside Musical Gala

Adults $15
Children $10

a. During the first night, 300 adult tickets wer
- » ’ e sold. Th :
ticket sales was $5,600. How many children’s ticket © total income from

first night? Show or explain how you got your ans s were sold during the

WET.



| " A OElCe Tegy |

For parts

&

p D

d.

(b, (¢), and (d), define x and ¥ as follows:

ihe number of adult tickets sold
ith@ aumber of children’s tickets sold

sring the second night, a total of 700 tickets were sold. Write an equation

{hat eXpIEsses the total number of tickets sold during the second night in

(erms of x and y.

e total income from ticket sales on the second night wasg $10,000. Write
T equation in terms of x and y that expresses the total income during
a;: second night from the sale of adult tickets at $15 each and children’s
the
iickets at $10 each.

Using your two equations from parts (b) and (c) as a system of equations,
5

olve for x and y. Show or explain how you got your answer.
s



, o
@ 3
practice Test 1 y
& -y ‘
Mathematics -
SESSION 2
. — |
- s session.  [o= !
You may use your reference sheet dtt”;;’?; Zizl;;(’” Eﬁﬁ {
_ At { . i
You may use @ calculator durtitg 1
; f
DIRECTIONS . ee O en-ended questions. Mark
This session contains eighteen multiple-choice QUQSQ?"S and ehree 0P }1
your answers to these questions on your answer sheet. _1
@9 Therearc 20 straws in a box; some @

@ What is the area of a circle with a
radius of 8 centimeters?

A. 25cm?
B. 50cm?
C. 201 cm?
D. 402 cm?

@ Number of Students in
Emma’s School

Number of
Students

20
28
27
22
25
26
27

Grade

il R Al B R IS

Use the data in the chart to determine
the median.

A, 20
B. 22
C. 25
D. 26

214

are red and some are blue. The

probability of reaching into the box
.3

and pulling out a red straw is <. How

many blue siraws are in the box?

A3
B. 6
C. 8
D. 12

An irregular hexagon has a perimeter
of 36 inches. Five of its sides are 3, 4,
6, 8, and 12. What is the length of the

remaining side?

A. 3inches
B. 4 inches
C. 6 inches
D. 8inches
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e What 18 the value of the expression beloy?
4 ) W )

16

Find the missing length (x) of the pair of similar figures shown bel
Cl1OW,

12 feet
20 feet
27 feet
30 feet

Which of the following properti

below?

o 0w >

neeade f@gE g

es of real numbers s demonstrated by the equation

a(b +c) = ab) T a(c)

distributive property
inverse property of addition
commutative property of addition

associative property of addition
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Which of the following is equiva

~2x -~ 70y
~72xy
~2X

2x + 70y

expression below?

jent to the

5(c — Ty) = 70+ 59)

College Enrollment in Introductory Courses
at Anytown University

350

300 ¢

i1l

Composition Business Psychology Algebra History

@€ The number of students enrolled in introductory courses at a university is shown on the
graph above. How many more students are enrolled in composition than in psychology?

A.

B.
C.
D

200
225
250
375



{is ap gpen-resporse question,

, i SURE TO ANSWER AND LABE[

, D ALL PAR
, show all your work (diagrams, tables, or TS OF THE QU
answer sheet. » HADIES, OF computations) op yoE’UESTmN“

, answer 10 question 31 in the spac i
1o yOUF € provided on your
answer sheet

O Use the diagram in the box to answer the question

X Algebra Tiles
X
X 1
1 1
Area =x? Area =x Area=1
square units square units  square units

In the figures below, algebra tiles are arranged in a rectangular array fo represent each

expression.
X | ; }
* X
! X
1
* 1
: ot + 2x
x*+2x + 1
t each expression pelow ina rectangular array.

Show how to use algebra tiles 1O represent v not
If an expression cannot be represented, €XP Jain WHY

a 3x2 4+ 3x + 2

b. 202 + 6x + 4




MCAS

Mark your answers to multiple-choice questions ony

A,

B
C.
D

@&P To the nearest integer, find the missing length (x

750
1,000
1,250
2,500

below.

12 feet
20 feet
29 feet
27 feet

If the mean number of people who v
total attendance during the 5 days?

10 ft

12 ft

isited

4 griuseum OVer 3 days

D, N
gy,
g

pur answer sheef.

is 250, what is the

) of the pair of similar figures shown

24 ft




A.
B.
C.
D.

J— _ ¢ A ACTICE® F@&t ,,%

. pmily works in a small crafts store
A M ) W 3 |
ax. If the sales tax is 6%, what aﬁ(louh?@ the cash register doe
S 0ot compuie th
€ the sales

0t should Bing
£0.60 mily add to a purchage of $12.007
$0.72
$6.00

$7.20

@ Wwhich of the following is the largest?

A.

B
C.
D

If one out of 5 people exercise each day, how many people ¢

2:/15.5
15.5+/2
3/14.6
14.67/3

an be expected to exercise

daily in a city of 25,000 people?

A.

B.
C.
D

500

1,500
2,500
5,000



Question 37 is a short-answer question.

In the figure below, the shaded area is a plana

g | () CPY B

¢ cross section of a rectangular solig,

20cm

20 cm

What is the area, in square centimeters, of the cross section?

&P The triangle ABC has vertices at the coordinates (—5, 1), (=7, 5), and (=3, 5), as
shown below.

=

—_
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A.

C.
D. (57 Ml)a (”79 "”5)5 (35 MS)

line, @

A.

B.
C.
D

~

, P X

(=7, =5 (—3, =5), (—5, —9)
(-5, =1 (=7, =5), (=3, —5)

5, 1), (3,5, (7,9

6 inches
8 inches
36 inches
72 inches

6 in.

6 1n,

57

o A square piece of paper, each side six i
’ imches long. is" .
s shown below. To t : g, is folded diagonall
To the nearest inch, how long is the oreasf m;dg igr}dtgefji%ged



A line is shown on the coordinate grid below.
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Which of the following best represents an equation of this line?
1
A y=-—x+2
y 23‘7
B. y=2x+2
C. y=2x-2

1
D. J”“—EX““Z




(41 and 47 are open-response guestions,

ugsﬁﬂ“

0 ¢ SURETO ANSWER AND LABEL ALL PARTS OF

» Show all your work (diagrams, tables,
o Ifyou do the work in your head, expla

EACH QUESTION
Or computations) in your answer sheej\‘,n

m in writing how you did the work.

n ese . . i )
o your answer to these questions in the space provided on your answer sheet

oo The total surface area of a cylinder is given by S.A. = 4 Yr g2 o
 husan 1 1 is the height. v S.AL = 21rk 4+ 21r?, where 7 is the

2. What 15 thg tot?,l. surface area of a tin can in which the radius is 3 inches
and the height is 10 inches? (Round off to the nearest hundredth)

b, The cost of the material for this can is $0.25 per square inch. What is the
total cost in making this can? (Nearest hundredth)

c. 1f the radius is doubled, by what percent will the total cost increase?
(Nearest whole number percent)

@ From 1980 to 1990, the population of Kate’s town decreased from 150,000 to 75,000.

2 What is the percent of decrease in the population over this
10-year period?

b. If the population decreased by the same percent in the next
10-year period, from 1990 to 2000, what was the population in the year

20007

at the same yate as it did from

¢. Assume the population continues to decrease '
d represent the population of

1980 to 1990, Write an expression that woul
Kate’s town in the year 2010




